Assembly instructions -i-ntegrated.

WETLANDS TABLE RECYCLING

STEP 1: FLAT PACKED TABLE ON ARRIVAL

Parts List - Per Table

Using M10x170 cup head bolts, mount legs to underside of seats. Iltem Qty Assembly Name

1 4 100x50@2400 Envire (IR)

2 2 100x50@2400 Envire (IR)
STEP 2: 3 6 | 100x50@2400 Envire (IR)
: 4 2 100x50@2400 Envire (IR)
5 6 | 100x50@310 Envire (IR)
6 1 100x50@850 Envire (IR)
7 2 100x50@850 Envire (IR)
8 2 | 100x50@830 Envire (IR)
9 2 100x50@170 Envire (IR)

10 4 110x110@1200 Envire (IR)

11 6  110x110@800 Envire (IR)

12 26  M10x170 Gal Cup Head

13 26  M10 Washer
Using M10x170 cup head bolts, mount legs to underside of table. 14 | 26 | M1ONut
15 8 10Gx75 Bugel Batten
16 84  14Gx100 Bugel Batten
STEP 3:

17 2 10mm@300 Gal Allthread
Put braces into place. Bolt through with 300mm Allthread and :
tamperproof nuts Then Screw brace to centre blocks using 18 | 4 M10 Tamper Proof Nut
10gx75 screws. :

TOOLS REQUIRED:

e Hammer
e 16mm Spanner

o Tamperproof tool

©lIntegrated Recycling P/L 2017 Page 1of 1

£&J www.integratedrecycling.com.au

Q 1300 729 253




